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1. [image: ]One of the best rides at Busch Gardens in Orlando Florida is the Flying Machine.  The Flying Machine is lifted by a hydraulic jack. The operator activates the ride by applying a force of 72N to a 45.0 cm2 cylindrical piston, which holds the 20,000N ride off the ground. What is the area of the piston that holds the ride if the process is 90% efficent?

2. A cylinder with a radius of 5.0 cm contains 15 cm of water (1000 kg/m3).  Gasoline (760 kg/m3) is then poured on top until the total depth of the liquid is 45 cm.  What is the gauge pressure at the bottom of the cylinder. 






Answer:

1. [image: ]One of the best rides at Busch Gardens in Orlando Florida is the Flying Machine.  The Flying Machine is lifted by a hydraulic jack. The operator activates the ride by applying a force of 72N to a 45.0 cm2 cylindrical piston, which holds the 20,000N ride off the ground. What is the area of the piston that holds the ride if the process is 90% efficent?
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2. A cylinder with a radius of 5.0 cm contains 15 cm of water (1000 kg/m3).  Gasoline (760 kg/m3) is then poured on top until the total depth of the liquid is 45 cm.  What is the gauge pressure at the bottom of the cylinder. 
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Pg = Pwater + Poil



Pg = ρwater gd + ρoil gd



Pg = (1000)(9.8)(0.15)+ (760)(9.8)(0.30)



Pg = 3704Pa
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P1x90% = P2
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A2 =
F2 A1



F1x0.90
= (20,000N )(45cm2 )



(72N )(0.90)
= 1.35x104 cm2
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1. Oneofthe best idesat Busch Gardens In
Orlando Florda isthe lying Machine. The
Flying Machine i ied by a hydraulcack.The
operator activates theride by applyinga force
ol 72N 103 45,0 cm cylindricalpiston,which
olds the 20.000N ride offthe ground, What s
th area ofth piston tha bl the ide i the process s 0% efficent?

2 Acylinder with a radiusof 5.0 cm contais 15 cm of water (1000
/). Gasolne (760 kg/m) i then poured ontop uni the ttal
depth ofthe lquid s 45 cm. What s the gauge pessure a th bottom
ofthe cylinder:



